Kansas Corporation Commission Oil & Gas Conservation Division



14

Confidential Release Date:
Wireline Log Received
Geologist Report Received

UIC Distribution

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 3956			API No	15 - 167-23638-00-00
Name: Brungardt Oil & Lea			1	escription:
D.O. Boy 971			,	NE_SE_NE_Sec. 15 Twp. 12 S. R. 13 ☐ East 1 West
Address 2:			1,750	Feet from ✓ North / ☐ South Line of Section
		67665+		Feet from East / West Line of Section
Contact Person: Gary L. Brung				es Calculated from Nearest Outside Section Corner:
Phone: (785) 483-4975				✓NE □NW □SE □SW
CONTRACTOR: License #_5184			County	. Russell
Name: Shields Oil Producers	loc			Name: Berens Brothers Well #: 2
Wellsite Geologist: Brad Hutchin			Field N	lame: Waldo
NCDA			1	ing Formation: Lansing-Kansas City
Designate Type of Completion:			•	on: Ground: 1697 Kelly Bushing: 1702
✓ New Well Re	-Entry	Workover	i	epth: 3511' Plug Back Total Depth: 3509'
	_			nt of Surface Pipe Set and Cemented at: 219' Feet
✓ Oil WSW	SWD SHR	☐ SIOW ☐ SIGW		e Stage Cementing Collar Used?
	GSW	Temp. Abd.	i	show depth set: 750' Feet
CM (Coal Bed Methane)	00//			·
Cathodic Other (Core	e. Exal., etc.):		if Alter	nate II completion, cement circulated from: 750'
If Workover/Re-entry: Old Well In:			feet de	pth to: surface w/ 200 sx cmt.
·				
Operator:				g Fluid Management Plan
Well Name:			(Data m	nust be collected from the Reserve Pit)
Original Comp. Date:	ŭ	•	Chloric	de content: ppm Fluid volume: bbls
Deepening Re-perf		IHR Conv. to SWD	Dewat	ering method used:
poning	Conv. to G		Location	on of fluid disposal if hauled offsite:
Plug Back:			LUCAR	on to had disposal in haded offsite.
Commingled			Opera	tor Name:
Dual Completion			Lease	Name: License #:
SWD			Quarte	er Sec TwpS. R
☐ ENHR ☐ GSW	Permit #:		County	/: Permit #:
8/13/2010 8/21/20		9/14/2010		
**************************************	ached TD C	Completion Date or Recompletion Date		
INSTRUCTIONS: An original a Kansas 67202, within 120 days of side two of this form will be he	and two copies of the of the spud date, real confidential for a One copy of all wire	his form shall be filed with ecompletion, workover or c a period of 12 months if rea eline logs and geologist we	onversion quested in ell report s	as Corporation Commission, 130 S. Market - Room 2078, Wichita, of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information writing and submitted with the form (see rule 82-3-107 for confidenhall be attached with this form. ALL CEMENTING TICKETS MUST temporarily abandoned wells.
			ſ	
I om the afficult and I have by comif-	AFFIDAVIT	to of the etatutes rules and	roou	KCC Office Use ONLY
I am the affiant and I hereby certify lations promulgated to regulate the	•		. "	Letter of Confidentiality Received
and the statements herein are con				Date:

Side Two

Operator Name: Bru	ungardt Oil & Lea	sing Inc.		Lease	Name:	Berens Brothe	ers	Well #:2_		
Sec. 15 Twp. 12	s. R. <u>13</u>	East	✓ West	Count	y: <u>Russ</u>	sell				
INSTRUCTIONS: Si time tool open and cl recovery, and flow ra line Logs surveyed.	osed, flowing and shi tes if gas to surface to	ut-in press est, along	ures, whether s with final chart(hut-in pre	ssure rea	ched static level,	hydrostatic pres	sures, bottom	hole tem	perature, fluid
Drill Stem Tests Take		Vγ	es No			og Formation	n (Top), Depth a	nd Datum	7	Sample
Samples Sent to Geological Survey				Nam See G	ie leologist's Repoi	rt	Тор		Datum	
Cores Taken Electric Log Run Electric Log Submitte (If no, Submit Cop	•	☐ Y ☐ Y	dillipin.			g				
List All E. Logs Run: Duel Induction PEL Density Lo	Resistivity Log, og, Micro Log	Compe	nsated Neu	ıtron						
		Pan		RECORD	✓ Ne	ew Used	no oto			
Purpose of String	Size Hole Drilled	Si	ze Casing t (in O.D.)	We	eight . / Ft.	Setting Depth	Type of Cement	# Sacks Used		and Percent
Surface	12 1/4"	8 5/8"		24 lbs.		222'	common	150	3% cc	and 2% gel
Production	7 7/8"	5 1/2"		15.5 lbs	i.	3509'	common	205	10% sa	alt and WFR-2
Port Collar	7 7/8"	5 1/2"		15.5 lbs	i.	750 port collar 1 094	common	100	comm	on
			ADDITIONAL	CEMENT	ING / SQL	JEEZE RECORD		· · · · · · · · · · · · · · · · · · ·		
Purpose:	Depth Top Bottom	Туре	of Cement	# Sack	s Used		Type and	Percent Additives	5	
Shots Per Foot			RD - Bridge Plug Each Interval Perf				ture, Shot, Cemer		rd	Depth
2	3012				-	250 gallons 2	28% mud acid			3012
1	2945					3,000 gallons	15% ne acid			2945
1	2932		·			3,000 gallons	15% ne acid			2932
				, , , , , , , , , , , , , , , , , , ,					REC	EIVED
TUBING RECORD:	Size:	Set At:		Packer A	At:	Liner Run:			OCT	9 6 2010
	2 3/8	3422		none	,	i	Yes No	, K	CC V	¹ 9
Date of First, Resumed 9/24/2010	Production, SWD or EN	IHR.	Producing Meth Flowing	iod: Pumpii	ng 🗌	Gas Lift O	her (Explain)			VICTIIA
Estimated Production Per 24 Hours	Oil 80	Bbls.	Gas	Mcf	Wate	er Bb O	ls.	Gas-Oil Ratio		Gravity 37
Vented Solo	ON OF GAS: i			ETHOD O		Comp. Com	mingled iit ACO-4)	PRODUCTI	ON INTER	VAL:

ALTERNATE I & II Work Sheet

KCC District #4

Called in:

10:00 09 14 2010 Time Month Day Year	API # 15-167-3638-00-00
Mr:	Spud Date:
•	Expiration Date:
Operator: Brungardt Oil & Leasinng	KCC #_ 3956
Address: PO BOX 871 Russell, Ks.	Phone#
Lease Name: Berens Brothers Well	#_2
Location : SW NE SE NE/4 Coun	ty:_Russell
Sec: 15 Twp: 12 Rge:	13W
10 ¾" 8 5/8"_219' S.P.	cwc w/ 150 sx. Cmt.
4 ½" - 5 ½" - 6" csg. Set @ 3509 '	w/160sx
T.D. 3511' Elev. 1690'	Anhy: Dakota base:
D.V. Tool @ Port Collar @_750'	Perf @Other
Total Amount of Cmt / Blend: 200sx of	60/40 POZ 4% gel ¼# of flo-seal / sx
Cmt circ ? YES Date 09/14/2010 Ceme	nt Company: Allied Ticket# 41941
Alternate II Completion: Rotary Rig	Pulling Unit X Backside:
Remarks:	
	RECEIVED
	OCT 0 6 2010
	1/00 1000
GPS: Lat: 39.01205 Long: -098.744	
~ ~ ·	



PO BOX 31 Russell, KS 67665

COMPLETION

INVOICE

Invoice Number: 124488

Invoice Date: Sep 14, 2010

Page: 1

Voice: Fax: (785) 483-3887 (785) 483-5566

Bill To:

Brungardt Oil Company

P. O. Box 871 Russell, KS 67665

CustomerID	Well Name# or Customer P.O.	Paymen	tīlerms
Brung ···	Berens Brothers #2	Net 30	Davs
Job Location	Camp Location	Service Date	Due Date
KS2-04	Russell	Sep 14, 2010	10/14/10

Quantity	ltem 🦷	Description	Unit Price	Amount
100.00	Ī	Lightweight Class A	11.85	1,185.00
25.00		Flo Seal	2.45	61.25
100.00		Handling	2.25	225.00
1.00		Handling Mileage Charge	300.00	300.00
1	SER	Open Port Collar	991.00	991.00
15.00	SER	Pump Truck Mileage	7.00	105.00
		Pay Disc. Parse 2397.24 Pay Kow Pay Kow Pay Kow Pod 9/23/240 (CA) 208		
		Objects 1		RECEIVED
		La Mariaco		OCT 0 6 2010
		, (Ct) 30%		·
		Mett 9		KCC WICHITA

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

9 572 4

ONLY IF PAID ON OR BEFORE
Oct 9, 2010

Subtotal 2,867.25
Sales Tax 103.44
Total Invoice Amount 2,970.69
Payment/Credit Applied
TOTAL 2,970.69

ALLIED CEMENTING CO. LLC. 041941

REMIT TO P.O. BOX 31		SERVICE POINT:	.,	
RUSSELL, KANSAS 67665		Kussel	l Ks.	
DATE 9 - 14 - 10 SEC. 15 TWP. RANGE 13	ALLED OUT ON LOCA	11:00 Am	JOB FINISH	i
9/10	Hill Ks. DN IW 34N	4W RUSSELL	STATE	
OLD OR (Circle one)			7	
CONTRACTOR CKWS	OWNER			
TYPE OF JOB OPEN PORT-COILER & CIRCULATE CO	ment) CEMENT	60.		
CASING SIZE 512 DEPTH	AMOUNT ORDERED	100 Sx 40	LiTe-wt	
TUBING SIZE 2" DEPTH	w/ 4# F10-	-Scal Per &	<u> </u>	
DRILL PIPE DEPTH TOOL FORT COLLEGE @ DEPTH 251				
PRES. MAX 600 # MINIMUM	COMMON	@		
MEAS. LINE SHOE JOINT	POZMIX			
CEMENT LEFT IN CSG.	GEL CHLORIDE	@ @	· 	
PERFS. DISPLACEMENT 7-2, 91 86L	ASC	@		
EOUIPMENT		@		
DQ OAT WEEK	Lite 100		1185,00	
PUMPTRUCK CEMENTER GARAM	Flo Seal	25 @ 2.45	1/25	
# AIT HELPER HeatH	FIO Jeas	<u> </u>		
BULK TRUCK		@		
# 410 DRIVER DAN TWS		@		
# DRIVER	HANDLING /00	@	225,00	
	MILEAGE _/o/sk/		300.00	
REMARKS:	Miccirco		17/000	
PORT COHOR @ 751' TEST CSG TO			1771.25	
600# (HELD) OPEN P.C. + RECIEVED GOOD	The state of the s	SERVICE		
C. RCULATION, MIXED 100 SX Coment & Coment	•			
+ Closed P.C. Tost TO 600# (HELD)	DEPTH OF JOB PUMP TRUCK CHARGI	F	991.00	
RAH 7 JTS & WASHED Clean (970).	EXTRA FOOTAGE			
Come out OF Hole up opening Tool,	MILEAGE	<u> </u>	105.00	
/ /HANKS	MANIFOLD Yes	@		
	· · · · · · · · · · · · · · · · · · ·		. ———	
CHARGE TO: DRUNGARDT OIL & Leasing	1			
		TOTAL	1096,00	
STREET				DEOE
STATE STATE ZIP STATE STATE ON LOCATION	PLUG &	FLOAT EQUIPMEN	NT ·	RECEIVED
STATE KEP, Ray DINKEL ON LOCATION	5, (N.C.)		,	2/5
Cement DID CIRCULATE TO SURFACE		@		ី ទី 201
		@		3
To Allied Cementing Co., LLC.		@		C WICHIT
You are hereby requested to rent cementing equipment	. 	@		0,1,1
and furnish cementer and helper(s) to assist owner or				
contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or		TOTAL		
contractor. I have read and understand the "GENERAL				
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)			
	TOTAL CHARGES			
PRINTED NAME	DISCOUNT	IF PA	ID IN 30 DAYS	
a va l.)			
SIGNATURE Laura, W	\$\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	,		



PO BOX 31 Russell, KS 67665

DRILLING Pay new

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

Brungardt Oil Company P. O. Box 871 Russell, KS 67665

INVOICE

Invoice Number: 124026

Invoice Date: Aug 13, 2010

Page: 1

Customer ID	Well Name# or Customer P.O.	Paymen	t Terms
- Brung	Berens Brothers #2	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS2-01	Russell	Aug 13, 2010	9/12/10

Quantity	Item	Description	Unit Price	Amount
90.00	MAT	Class A Common	13.50	1,215.00
60.00	MAT	Pozmix	7.55	453.00
3.00	MAT	Gel	20.25	60.75
5.00	MAT	Chloirde	51.50	257.50
150.00	SER	Handling	2.25	337.50
15.00	SER	Mileage 150 sx @ 10 per sk per mi	15.00	225.00
1.00	SER	Surface	991.00	991.00
15.00	SER	Pump Truck Mileage	7.00	105.00
		Poy Dist Price		RECEIVED
		1 . 1. 2		NECEIVED
		Pd 8/19/5010		OCT 0 6 2010
	1/	/ UH 184	F	CC WICHITA
ALL PRICES	ARE NET, RAYA	BIF Subtotal HCFE 9		3,644.75
	LLOWING DATE			164.86

Total Invoice Amount

TOTAL

Payment/Credit Applied

30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

ONLY IF PAID ON OR BEFORE Sep 7, 2010

3,809.61

3,809.61

ALLIED CEMENTING CO., LLC. 041854

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665 SERVICE POINT: Russell KS JOB START 12:45 pm COUNTY Russell JOB FINISH CALLED OUT RANGE ON LOCATION TWP DATE 8-13-10 12 13 Berens Brothers LOCATION Bunker Hill KS 10 North WELL# 2 OLD OR NEW (Circle one) 1 West 3/4 North West into CONTRACTOR Shields Rig #/ **OWNER** TYPE OF JOB Surface HOLE SIZE 1214 T.D. 223' **CEMENT** AMOUNT ORDERED _ 150 60/40 31/ cc 21/64 CASING SIZE 8 % DEPTH 222 **TUBING SIZE** DEPTH **DRILL PIPE DEPTH** TOOL DEPTH PRES. MAX **MINIMUM** COMMON MEAS. LINE SHOE JOINT POZMIX CEMENT LEFT IN CSG **GEL** @ PERFS. **CHLORIDE** DISPLACEMENT 13 BLI ASC (a) @ **EQUIPMENT** @ @ PUMP TRUCK CEMENTER John Roberts @ # 398 HELPER John @ BULK TRUCK # 410 ര DRIVER Richard TWS @ BULK TRUCK @ DRIVER HANDLING @ MILEAGE **REMARKS:** TOTAL 🚄 Est. Circulation SERVICE Mix 180 sk cement DEPTH OF JOB PUMP TRUCK CHARGE Plug w/ 13 Bbl HzD EXTRA FOOTAGE MILEAGE @ Did Circulate MANIFOLD @ Thank You! @ @ CHARGE TO: Brungardt STREET __ __ STATE _ ZIP PLUG & FLOAT EQUIPMENT RECEIVED 85/8 Wooden Plug @ To Allied Cementing Co., LLC. **@** OCT 0 6 2010 You are hereby requested to rent cementing equipment @ and furnish cementer and helper(s) to assist owner or ര contractor to do work as is listed. The above work was KCC WICHITA done to satisfaction and supervision of owner agent or TOTAL contractor. I have read and understand the "GENERAL SALES TAX (If Any). TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGES PRINTED NAME Thomas J Enge DISCOUNT . IF PAID IN 30 DAYS

ALLIED CEMENTING CO., LLC. 041894

REMIT TO P.O. I	BOX 31 SELL, KANSAS 67	665		SEI	RVICE POINT:	·//	
DATE 8-21-16	SEC. TWP.		CALLED OUT	ON LOCATION	JOB START	JOB FINISH	-
Beneau LEASE Brother	WELL# 2	LOCATION Links	chill 9	NE	COUNTY	STATE	
OLD OR NEW		Mollard Rd	1w 7/2				
CONTRACTOR	Shoille d.	with Mar 1	OWNER				
TYPE OF JOB		tria	OWNER				•
HOLE SIZE >			CEMENT	700		8616	
CASING SIZE		EPTH 3509	AMOUNT OR	DERED ACT	5 Con 10	7.547	
TUBING SIZE DRILL PIPE		EPTH EPTH					
TOOL P.C.		EPTH 750 '			-		
PRES. MAX		INIMUM	COMMON	205		2767,50	
MEAS. LINE		HOE JOINT / 3 '	POZMIX		@		
CEMENT LEFT I	N CSG. /8		GEL		@		
PERFS.	r E3 ac /	, , 	CHLORIDE _		@ @		
DISPLACEMENT	r f3.08 66		ASC	9	@ <i>/, 2 r</i>	191.25	
	EQUIPMEN	T .			@ 		
		.1	WFR-2	500	@ 1,10	550,00	
PUMP TRUCK	CEMENTER	naye			@		
# 9/7 BULK TRUCK	HELPER Hea	th					
# 4/0	DRIVER DA	wel TWS					
BULK TRUCK	DICTURE POUR	<u> </u>			@		
#	DRIVER		HANDLING_	-205	- @ 2,25	461,25	
			MILEAGE _	10 11 k/a.	<u></u>	307,50	
Inset 34	191 Mixel	cHole 151ks 50g Ge/KUFR-1	·		VICE	*	
P/ (2)		93. 661 /and		ЭВ K CHARGE	·	1957,00	
	1200 ps;	1-1000- 11814	EXTRA FOO		@	775774	
			MILEAGE		@ 7,00	105,00	
<u> </u>		· · · · · · · · · · · · · · · · · · ·	MANIFOLD.	··· · -	@		
		11 avet 11		 	@		
•	1	Dil+ Ceanis	·		@		
CHARGE TO: 🔏	Drungand + C	Dil+Ceanis				2	
STREET					TOTAL	2062.00	
							RECEIVED
CITY	STATE	ZIP		PLUG & FLO	AT EQUIPME	NT :	
			•			(OCT 0 6 2010
		In /			@ .		
		THANKS,				1/6	C WICHITA
To Allied Ceme	nting Co., LLC.	777-111			@	<u>nc</u>	
		ementing equipment		·	@		
) to assist owner or			@		
		The above work was			. moatt		
		n of owner agent or	-1		TOTA	L	•
		tand the "GENERAL ted on the reverse side.	SALES TAX	(If Any)			
* *	_ ,		TOTAL CHA	RGES			
PRINTED NAMI	Burton	Beery	. DISCOUNT	.200	IF PA	ID IN 30 DAYS	
•	·						



PO BOX 31 Russell, KS 67665

INVOICE

Invoice Number: 124114

Invoice Date: Aug 21, 2010

Page:

Voice: (785) 483-3887

Fax:

(785) 483-5566

Puzi

Bill To:

Brungardt Oil Company

P. O. Box 871 Russell, KS 67665

Customer-ID	Well Name/# or Customer P.O	Paymen	t Terms
Brung	Beren Brothers #2	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS2-02	Russeli	Aug 21, 2010	9/20/10

COMPLETION

Quantity	iltem +	Description See 2	Unit Price	a Amount
205.00	MAT	Class A Common	13.50	2,767.50
9.00	MAT	Salt	21.25	191.25
500.00	MAT	WFR-2	1.10	550.00
205.00	SER	handling	2.25	461.25
15.00	SER	Mileage 205 sx @.10 per sk per mi	20.50	307.50
1.00	SER	Production String	1,957.00	1,957.00
15.00	SER	Pump Truck Mileage	7.00	105.00
		Pay 5362.83 distr Por 8/26/200 CICH 195 ACH49	re	

Subtotal

Sales Tax

Total Invoice Amount
Payment/Credit Applied

TOTAL

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

5-1267

ONLY IF PAID ON OR BEFORE
Sep 15, 2010

RECEIVED OCT 0 6 2010 KCC WICHITA

6,339.50

291.23 6,630.73